1. Cite the main differences between ionic, covalent and metallic bonding.

Tonic - tere & edechostatc divackon behween o??os,:lrJA,]

C\/\c.n— fong.

Covalapt — Wiece ¢ chockmn SMnj behoeen acla'otc_em\- Arvons

W fhat each obom aswmes a kbl elodvons s e
Medallic - the ?Oh‘*\\h’—\m char WA (D(ed are swW g w&nﬁ\){:\ad&

0 and “al by #ie <ec of valenw elechwons
2. By looking at their electronic cora’:iguration, detelﬁnine the number of

covalent bonds that are possible for each of the following elements:

a. Silicon [y} 3¢t 3{‘ 4 covalemt bonds
b. Nitrogen [ie ) 'Lgll?} © 3 covalent bonds (Fo I Hre a=7 ¢lol )
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‘\ Note: a unit cell is the smallest
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A“a—\-oms E (3} ve ) Lo et repeating unit that you can use
to reproduce the crystal’s

Auwak ot = 1. - EFe =23 g structure.
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